This is a word search. Below is the word search with all the given words highlighted.

P |C E IR |[E [T |A[W]A |T [O |M|R
T |l |H (L |I |C|L [N |E |S |T [A |O |O
RI|T |I |[E [N [O|T |O R [P |R |E |L [N
D|E |G |C [0 |O|B |[R [D|T |A |S [E |I

L IN([G|T |S [Q |A [T [N W[V |A|C (R
E |G|S |R[E |U]|R|I [U]|V |E |S (U|T
PI|A B |O[MI|A|Y |S |[O|[E |L |H|L (U
T |[M|O [N |S |R [O]|]O (S |A |l (O |E |E
O[O |S |[R[E |K [N |P |D[A [N |C (S |N
N IR |O [N [O|T |I |V [A|R |G |K [H |E
O |T [N|O|S |[M (S |T |A|N [D |l |N |G
ui|C|A|T [U|H |A |D [R [O [N |P [P |L
L [E |Y |O |M[O|R [N |O (I |[M|R |E [F
G (L [N |H |E [S [R|E |V [S [N |A |R [T
S |[E [E [P |C |O [D |S |Q A |IR |E [E

The remaining unused letters spell out PARTICLES ARE DOTS WAVES ARE DASHES APPLY
MORSE CODE. Following these instructions and noting that the words are separated out into
lines so that each line is a letter in Morse code, we obtain:

I HIGGSBOSON FERMION

- N STANDING MESON

- T TRANSVERSE
E MUON

- R QUARK SOUND NEUTRINO

- F ATOM PROTON SHOCK LEPTON

E HADRON

- R BARYON TRAVELING  MOLECULE
E PHOTON

- N ELECTROMAGNETIC GRAVITON

- C WATER GLUON SQUARE ELECTRON
E POSITRON

Thus, the answer is INTERFERENCE.



